Subject: Re: geane propagation
Posted by asanchez on Wed, 23 Jan 2008 15:44:46 GMT

View Forum Message <> Reply to Message

Hi Sebastian,

after having runned,

runReco.C i get the following

error message?

Do you have any idea, what is going on?

cheers AlLicia.

0 cluster created containing O digis from O
PndTpcRiemannTrackingTask::Exec

0 Riemann Tracks found.

PndTpcRiemannTrackingTask::Exec:: 0 track candidates found.
0 tracks created

KalmanTask::Exec

Fitting done

Starting Analysis

TrackFitStatTask::Exec

TrackFitStatTask:: O tracks of O found
PndTpcClusterFinderTask::Exec

O cluster created containing 0 digis from 0
PndTpcRiemannTrackingTask::Exec

0 Riemann Tracks found.

PndTpcRiemannTrackingTask::Exec:: 0 track candidates found.
0 tracks created

KalmanTask::Exec

Fitting done

Starting Analysis

TrackFitStatTask::Exec

TrackFitStatTask:: O tracks of O found
PndTpcClusterFinderTask::Exec

O cluster created containing 0 digis from O
PndTpcRiemannTrackingTask::Exec

0 Riemann Tracks found.

PndTpcRiemannTrackingTask::Exec:: 0 track candidates found.
0 tracks created

KalmanTask::Exec

Fitting done

Starting Analysis

TrackFitStatTask::Exec

TrackFitStatTask:: O tracks of O found
PndTpcClusterFinderTask::Exec

1 cluster created containing 2 digis from 2
PndTpcRiemannTrackingTask::Exec

1 Riemann Tracks found.

TrackO: 1 hits R=

PndTpcRiemannTrackingTask::Exec:: O track candidates found.
0 tracks created

KalmanTask::Exec
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Fitting done

Starting Analysis
TrackFitStatTask::Exec
TrackFitStatTask:: 0 tracks of O found
PndTpcClusterFinderTask::Exec

1 cluster created containing 2 digis from 2
PndTpcRiemannTrackingTask::Exec

1 Riemann Tracks found.

TrackO: 1 hits R=
PndTpcRiemannTrackingTask::Exec:: 0 track candidates found.
0 tracks created

KalmanTask::Exec

Fitting done

Starting Analysis
TrackFitStatTask::Exec
TrackFitStatTask:: O tracks of 0 found
PndTpcClusterFinderTask::Exec

26 cluster created containing 110 digis from 110
PndTpcRiemannTrackingTask::Exec

7 Riemann Tracks found.

TrackO: 3 hits R=

Trackl: 6 hits R=0.0171944

Track2: 3 hits R=

Track3: 3 hits R=

Track4: 8 hits R=0.00739902

Track5: 2 hits R=

Track6: 1 hits R=

nhits=6

nhits=8
PndTpcRiemannTrackingTask::Exec:: 2 track candidates found.
mx=-3.54686 my=0.278717

Setting initial p=-0.0104674
mx=-0.768565 my=-0.375309

Setting initial p=0.00445971

2 tracks created

KalmanTask::Exec

starting trackO

6 hits in track 0

starting fit

Nystrom:: outside of range (-1000,1000)!
starting trackl

8 hits in track 1

starting fit

Nystrom:: outside of range (-1000,1000)!
Fitting done

Starting Analysis
TrackFitStatTask::Exec

Valid MCTrack found with p=0.378068 GeV/c PDGId=2212 gq=1 nPndTpcHits=31
theta=1.78292

p=0.0104633 g=1 pstart=0.0104674
p=0.00442795 g=1 pstart=0.00445971
TrackFitStatTask:: O tracks of 1 found
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*** Break *** segmentation violation
*** Break *** keyboard interrupt macro/tpc/tutorial/runReco.C:101.:

*** Break *** keyboard interrupt
Root > .q
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